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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, APRIL 2016.
I YEAR — II SEMESTER
Major Paper III — ADVANCED FINANCIAL ACCOUNTING
Time : 3 hours	    			Max. Marks: 75
SECTION A — (10 ×2 = 20 marks)
Answer any TEN questions.
1.  What are dependent branches?
2.  What is the need for departmental accounts?
3.  What do you mean by Instalment purchase system?
4.  Define goodwill.
5.  What is the difference between Realisation Account and Revaluation Account?
6.  Give the accounting treatment of inter departmental transfer at cost and at selling price.
7.  Record the following in the books of Head Office:
(a) Cash remitted by a branch `10,000 at the end of accounting year did not reach the H.O. on the date of closing accounts.
(b) Goods `20,000 sent by Bangalore Branch to Hyderabad Branch under instruction from Head Office.
8.  Mixed goods were purchased for `1,00,000 and later they were assorted into   three categories 
     X,Y,Z as follows:
	Department X  1,000 units – selling price  `20 each
	Department Y  2,000 units – selling price  `22.50 each
	Department Z  2,400 units – selling price   `25 each
All categories yield the same rate of profit. Calculate the purchase price of each category.  
9.  X purchased a machine under Hire-purchase agreement from Y. The cash price of the machine was 
      `15,500. The payment was to be made as follows:
						   		    `
On signing of the agreement             	3,000
First year end					5,000
Second year end					5,000
Third year end			          	5,000
Calculate interest for each year.
10.  A and B are partners sharing profits and losses in the ratio of 3:2. C is admitted for 1/4th share. A 
       and B decided to share equally in future. Find the sacrificing ratio.
11.  X, Y and Z are partners sharing profits in the ratio of 3:4:2. Y retires and the goodwill of the firm 
is valued at `16,200. No goodwill account appears in the books of the firm. X and Z decided to         share profit in the ratio of 5:3. Pass journal entries to record goodwill if it is not allowed to remain 
        in the books.
12.  How are accounts settled at the time of dissolution of a firm?
                                                                                          
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions

13.  Explain the important bases of apportionment of expenses among different departments.
14.  Distinguish between branches and departments.

 (
[P.T.O.]
)
15.  From the following data, prepare departmental trading and profit and loss account for the year 
       ended 31.3.2008:
	
	Department A
`
	Department B
`

	Stock (1.4.2007)
	40,000
	-

	Purchases from outside
	2,00,000
	20,000

	Wages
	10,000
	1,000

	Transfer of goods from Dept. A
	-
	50,000

	Stock (31.3.2008) at cost to the department
	30,000
	10,000

	Sales to outsiders
	2,00,000
	71,000


B’s entire stock represents goods from Department A which transfers them at 25% above its cost. 
Administrative and selling expenses amount to `15,000 which are to be allocated between departments A and B in the ratio of 4:1 respectively.
16.  M/s. S & Co. opened a branch at Hyderabad on 1st April, 2011. The following information is 
        available in respect of the branch for the year 2011-12:
									        `
	Goods sent to the branch				    75,000
	Cash sales at the branch				    50,000
	Credit sales at the branch				    60,000
	Salaries paid by H.O.					    15,000
	Office expenses paid by H.O.			    12,000
	Cash remittances to branch towards petty cash   6,000
	Petty cash at branch on 31.3.12			         500
	Debtors as on 31.3.12				  	      5,000
	Stock at branch on 31.3.12				    27,000
	Prepare Branch Account in the books of H.O.
17.  On 1st April, 2001 X purchased a machinery from Marshall on hire purchase system over a period 
of three years. `5,000 was payable on delivery on 1st April, 2001 and the balance by following instalments on 31st March each year:
					    `
2002			10,000
	2003			10,000
	2004			Balance amount
	Marshall charged interest at 10% on the yearly balances. The cash value of the machinery was  
`30,000. Depreciation @20% p.a. on diminishing balances was written off each year. X paid          all the instalments on the due date. Show the machinery account and Marshall’s account in the        	books of X for three years to 31st March, 2004.
18.  A and B were partners. The partnership deed provided that  --
(i) The accounts be made up to 31st March each year.
(ii) The profits be divided as follows: A 1/2; B 1/3 and the balance carried to reserve.
(iii) In the event of death of a partner, his representative be entitled to:
(a) The capital to his credit at the date of death.
(b) His proportion of profits to date of death based on the average profits of the last three completed years.
(c) By way of goodwill his proportion of the total profits for the three preceding completed years.


On 31st March, 2006, the ledger balances were:
							 `		       `
A’s Capital						   90,000
B’s Capital						   60,000
Reserve						            30,000
Creditors						            30,000
B/R					    20,000
Investments			    50,000
Cash					 1,40,000   		____          
						 2,10,000		  210,000
The profits for the last three years were `42,000, `39,000 and `45,000. B died on 1st  August, 2006. Show necessary accounts.

19. 	 P, Q and R share profits in proportion of ½, ¼ and ¼. On the date of dissolution, their balance 
        sheet showed as follows:
	Liabilities
	`
	Assets
	`

	Creditors
	14,000
	Sundry assets
	40,000

	P’s Capital
	10,000
	
	

	Q’s Capital
	10,000
	
	

	R’s Capital
	  6,000
	
	

	
	40000
	
	40,000


      The assets realized `35,500. Creditors were paid in full. Realisation expenses amounted to     
       `1,500. Close the books of the firm.
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions
20.	Crown Industries, Mumbai has a branch at Madurai to which goods are invoiced at cost plus 25%. The branch makes sales both for cash and on credit. Branch expenses are paid direct from head office and the branch remits all cash to head office.
From the following details, prepare the necessary ledger accounts in Head Office books to calculate branch profits as per the Stock and Debtors System.
										    `
Goods received from H.O. at invoice price		60,000
	Returns to H.O. at invoice price			  	  1,200
	Branch stock on April 1, 2012 at invoice price	  6,000
	Cash sales								20,000
	Credit sales							36,000
	Branch debtors on April 1, 2012			 	  7,200
	Cash collected from debtors					32,000
	Discount allowed to debtors			    	     	      600
	Bad debts in the year				                        400
	Goods returned by debtors to branch		               800
	Rent, rates and taxes at branch			  	   1,800
	Branch office expenses 				     	      600
	Branch stock at invoice price on March 31, 2013	 12,000
 (
[P.T.O.]
)
21.	On 1-1-11, TST Motors, Trichy purchased a bus on hire-purchase from Sundaram Motors, Chennai for R.5,60,000. Payment to be `1,50,000 down payment and three instalments of `1,50,000 each at the end of each year. Rate of interest is charged at 5% p.a. TST Motors depreciates the bus at 10% p.a. on written down value method.
Due to financial difficulties TST Motors could not pay the second instalment onwards. Sundaram Motors repossessed the bus on 31.12.12 and sold it for `3,10,000 on the same day. Reconditioning expenses incurred by Sundaram Motors was R.6,000.
	Prepare necessary ledger accounts in the books of both TST Motors and Sundaram Motors.

22.	 A and B sharing profits in the ratio of 3:1. Their Balance Sheet as on 31st March 2009 is as under:
	Liabilities
	`
	Assets
	`

	Creditors
	37,500
	Cash at Bank
	22,500

	General Reserve
	4,000
	Bills Receivable
	3,000

	Capital:
	
	Stock
	20,000

	   A
	30,000
	Debtors
	16,000

	   B
	16,000
	Furniture
	1,000

	
	
	Building
	25,000

	
	87,500
	
	87,500


	On 1-4-2010 they admit C as a new partner on the following arrangement:
(a)  	C to bring `10,000 as capital or 1/5 share of profit.
(b) The new firm to have goodwill `10,000.
(c)     	Stock and furniture to be reduced by 10%, a reserve of 5% on debtors for doubtful debts to   
     be created.
(d) Buildings to be appreciated by 20%.
Give the necessary ledger accounts and Balance Sheet.
23.	A partnership firm was dissolved on 30th June, 2010. Its Balance Sheet on the date of dissolution 
         was as follows:
	Liabilities
	`
	Assets
	`

	Capitals:
	
	Cash
	5,400

	 Ram
	38,000
	Sundry assets
	94,600

	Shyam
	24,000
	
	

	Mohan
	18,000
	
	

	Loan a/c-Shyam
	5,000
	
	

	Sundry Creditors
	15,000
	
	

	
	1,00,000
	
	1,00,000



The assets were realized in instalments and the payments were made on the proportionate capital 
basis. Creditors were paid `14,500 in full settlement of their account. Expenses of realization  were estimated to be `2,700 but actual amount spent on this was `2,000. This amount was paid on 15th September. Draw up a Memorandum of distribution of cash which was realized as 
follows:
	On 5th July, 2010		`12,600
	On 30th August, 2010		`30,000
	On 15th September, 2010	`40,000
		The partners shared profits and losses in the ratio of 2:2:1.

———————
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